CALCULA EL MINIMO
COMUN MULTIPLO
(M.C.M)

m.c.m (38 y 8) =
38 8 Factores comunes:
Factores no comunes:
m.cm(38y8)=
38= 8=
8=
m.c.m (13 y 30) =
13 30 Factores comiines:
Factores no comuines:
m.c.m (13 y 30) =
19= 0=



CALCULA EL MINIMO
COMUN MULTIPLO
(M.C.M)

m.c.m (86, 64y 20) =

86 64
38: 8:
38-= -

m.c.m (75, 45y 25) =

75 45

75= 45-
75= 45-

20 ,
Factores comunes:

Factores no comunes:

m.c.m (86, 64y 20) =

20=
20=
25 Factores comtnes:
Factores no comtlnes:
m.c.m (75, 45y 25) =
25=
25=



